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Combined 10 Bank Senior Officer (10.11.23)
Total questions : 100 Total marks : 100

1) Three coins are tossed. Find the probability of exactly 2 heads -

A :n(S) =23=8

Let E = Event of getting exactly two heads,
= {(H, H, T), (H T, H), (T, H H)}

= n(E)

=3

. Required probability = 3/8

2) In each of the following questions, a word has been written in four
different ways out of which only one is correctly spelt. Find out the correctly
spelt word.

1
v 2
3
4

Sattellite
Satellite
Sattelite
Satelite

~— N N N

A : » Satellite (noun)

English Meaning: An artificial body placed in orbit round the earth or moon or
another planet in order to collect information or for communication.(Artificial
Satellite)

Bengali meaning: B7i512 , 5% , Ifad Sosz|

3) In each of the following questions, a word has been written in four
different ways out of which only one is correctly spelt. Find out the correctly
spelt word.

v 1) Tariff
2) Tarriff
3) Tarif
4) Tarrif



T @ » Tariff (noun)

English meaning: A tax or duty to be paid on a particular class of imports or
exports/ fix the price of (something) according to a tariff.

Bangla Meaning: SIYl ; §&7 OICIPT ; SIEMIA-ISTAR &F ;, @Il ReR @Ifod Srerifd 2 [
G WIS BITT |
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5) A, B, C, D and E are five consecutive numbers in increasing order of size.
Deleting one of the five numbers from the set decreased the sum of the
remaining numbers in the set by 20%. Which one of the following numbers
was deleted?

1)A
2)B
v 3)C
4) D

4 Let, the numbersare A=x,B=x+1,C=x+2,D=x+3,E=x+4
sum=X+X+1+xXx+2+x+3+x+4=5x+10

Deleting one of the five numbers from the set decreased the sum of the
remaining numbers in the set by 20%.



new sum = sum - 0.2 sum

= 0.8 sum

= 0.8 (5x + 10)

=4x + 8

deleted number =5x +10-4x-8=x+2=C

6) Bowl S contains only marbles. If (1/4) of the marbles were removed, the
bowl would be filled to (1/2) of its capacity. If 100 marbles were added, the
bowl would be full. How many marbles are in bowl S?

AT : Let

there are x number of marbles and capacity of the bowl is y marbles 3x/4 =
y/2

=y = 3x/2

X+ 100 =y

=X + 100 = 3x/2
= (3x/2) - x =100
= x/2 =100

- x =200
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8) Katalin Kariko and Drew Weissman got the Noble Prize in 2023 in-

1
v 2
3
4

Economics
Medicine
Literature

None of the these
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10) In each of the following questions, a sentence has been given in Active
(or Passive) voice. Out of the four alternatives suggested select the one
which best expresses the same sentence in Passive (or Active) voice.

One should keep one's promise.

1) One's promise should be kept by us.
2) One's promise has to be kept.

3) A promise should be keeping.
v 4) A promise should be kept.

MW : » One + should & sentence - & passive I T3

- 9 Active voice A3 object < subject s 3511 |

- should be

- §1 verb W< past participle 351« |

Structure: 94 object 7 subjective 9 T4 + should be + ¥ verb @< past
participle.

- G T, S BWd, A promise should be kept.

11) How many types of recipients are there in an e-mail system?

AT : o B-(HA fodfD 2fToF ¢Fa Az | IU1- To, CC 2 BCC.
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12) In each of the following questions, a sentence has been given in Active
(or Passive) voice. Out of the four alternatives suggested select the one
which best expresses the same sentence in Passive (or Active) voice.

You will have finished this work by tomorrow.

1) This work will have been finished tomorrow.
2) This work will be finished by tomorrow.
3) This work will finished tomorrow.
v 4) This work will have been finished by tomorrow.

AN ; » 53T B IR This work will have been finished by tomorrow'.

* 90 GERO I Future perfect tense 9 BAAq|

- fog g GRiwre Ao word @& ‘by this time’, ‘by morning’, ‘by Sunday’, ‘by
tomorrow’, etc. 3OJ YR Future perfect tense |

* Future perfect tense & Active voice (A passive voice-1 AHTe PIR AT .

- Object 0 Subject 20 +

- Shall have been/ will have been JIG1 +

- ¥ verb W< past participle IGT +

- by I +

- Subject 0% Objective form 1|

13) One horse power is equal to -

v 1) 746 watts
2) 748 watts
3) 756 watts
4) 736 watts
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1H.P = 746 W (One horse power is equal to 746 watts).



14) ‘SO0’ ¥ (A % 5% <40ZH (PIAIL?

1) S+8ro
2) SR+TM9
v 3)

4) ST+

AT & - IR RBO ) + SO KA 9[- QI AT \3 (19 TR TSR, ATRPRAT
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4Td = FORETICTE, Td3 + I = FART, Fd3 + 2 = ARF, OA3Id = OCIARIA 2051H

15) The name of Asia's fastest male and female athlete as per Asian Games
2023 is-

v 1) China's Xie Zhenye and GE Manqi
2) China's Xie Zhenye and Sri Lankan Devindya Oshini Gunawardene
3) China's Xie Zhenye and Indian Dhanalakshmi
4) None of these
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16) If a + b + c = 0, the value of (a%/bc) + (b?%/ca) + (c?/ab) is -

IM:a3 +b3+c3-3abc=(@+b+c)@2+b?2+c?-ab-bc-ca)
a+b+c=0thena?+b3+c3-3abc=0
~a3 4+ b3+ c3 =3abc

(a%/bc) + (b?/ca) + (c?/ab)
= (a3 + b3 + c3)/abc

= 3abc/abc

=3

17) The famous book titled 'Jaddapi Amar Guru' was written by-

1) Rangalal Sen



2) Humayun Ahmed
3) Abdur Razzaq
v 4) Ahmed Sofa

AN : T TP -

T TR SF' IR W1 B3R 3 FATIRRGTE Az =01 IS 13 FosRages
QEf

- A FSE R FoTP I6ATD dwwb FABIT IB AR AP TS i IREARTSR AP
30T “ITOR AT 51K FI51 YRS I 2P e |

- D11 ReIRmTeic) e awis SRt SIToRe WIRM ISP Y (1P [Kifog [Rigw
JCATPATFNRA FRIAT 23T TR 93 517 |

- (TP AN I27 4R ATHIP SR SHNE TG PR |

18) Each of the following idioms/phrases is followed by some alternatives.
Choose the one which best express its meaning.
To show the white feather

v 1) To show signs of cowardice
2) To seek peace
3) To Show arrogance
4) To become polite

AT @ » To show the white feather (Idiom)

English Meaning: behave in a cowardly fashion/ to act in a cowardly manner/
a mark or symbol of cowardice.

Bangla Meaning: fSF3 5% BT 31 TR PI2RFTOR 5T 727 B4

Example Sentence: He showed the white feather and ordered a general
retreat.

o U P d BCATT J/EJ -

) To seek peace - M3 ¥ |

s1) To Show arrogance - 3oy A6 27ed |

¥) To become polite - STOTBTKTE |
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20) For a research purpose 2500 individuals were interviewed. Among them
750 persons have bank accounts in State Owned Commercial Banks (SOCBSs)
and 2250 persons have bank accounts in Private Commercial Banks (PCBs).
How many of them have bank accounts in both SOCBs and PCBs?

1) 250
2) 300
v 3) 500
4) 600

T : Individuals who have bank accounts in both SOCBs and PCBs = 750 +
2250 - 2500

= 3000 - 2500

=500

21) A harddisk drive can be directly connected to a PC via a -

v 1) ACSI interface
2) Parallel interface
3) WAN interface
4) USB interface

AT ;- 930 TG ToF TR B SCSI TREPER UK SKINK Q3 iR 5y e 1o
N |



- ACSI (Atari Computer Systems Interface) (1RGP I TGIFL BIGTS SCS|
(Small Computer Systems Interface) IR TCOR3 |

- SCSI W< “1g* Small Computer System Interface|
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22) Each of the following idioms/phrases is followed by some alternatives.
Choose the one which best express its meaning.
Swan-song

1) Music as sweet as a song of birds
2) A melodious song in praise of someone
3) Praise of a woman by her lover
v 4) Last work of a poet or musician before death

AT Swan song:

English Meaning: the final performance or activity of a person's career / last
work.

Bangla Meaning: C°9 &/ 54T |

Ex. Sentence: ‘The Tempest' is known as Shakespeare's Swan song.

Bangla Meaning: ‘@1 (G0’ (P CTATORIIN CTY JIRO/A5dT I 2 |

* STOA1R, @RI A0 @, GG TP SR 4T - Last work of a poet or musician
before death - Swan song A< SFYF WY AP FACZ |

23) Each sentence has four underlined parts having words or phrases
marked (a), (b), (c), (d). Identify one of the underlined parts that must be
changed to make the sentence correct.

sooner than he had arrived his friends arranged a reception in his honor in
the best hotel in town.

Sooner than he had arrived
arranged

in his honor in

the best

vl
2
3
4

S~— N N N

AT ; » GARG IR B WXGP T - Sooner than he had arrived. - SERG Qe
As soon as he arrived I3 AT 5P X1 » As 00N as AR AR QLT BY AT



ICS, T} @Il <7 IR0 W Al | - As S00N as = IO dl P03/ O a1 T3 | - As soon as
W9 [ 3 RH tense QP3| - AR, as soon as A7 77 W past indefinite tense
A SIIR W73 past indefinite tense XA | - 2iCy SIS I A cluse T past
indefinite tense 1 WE, B3 UIIRA clause 4 arrived XJ | - 2o 30 clause A3
R than/when 3O S dT AP Q@RI I, A4S cluse a No sooner had/
scarcely had/Hardly had 3oy 5% 11

24) Point A is 10 km west of point B. Point B is 30 km north of point C. Point C
is 20 km east of point D. What is the distance between points A and D?

1) 10v20 km
v 2) 10v10 km
3) 20V10 km
4) 30v10 km

A 10km B

30 km

1A AD = V(302 + 102)

D 10km 10km C

= V1000
= 10v10 km

25) In each of the following questions, a sentence has been given in Active
(or Passive) voice. Out of the four alternatives suggested select the one



which best expresses the same sentence in Passive (or Active) voice.
My uncle promised me a present.

1) A present was promised by my uncle to me.
v 2) 1 was promised a present by my uncle.

3) | had been promised a present by my uncle.

4) | was promised by my uncle a present.

JMAT : » Active voice (CF passive voice IR [

« Active voice I3 object b passive voice W3 subject 2|

* Tense ORI auxiliary verb I

* OKK 1 verb < past participle 27|

« Active voice 3 subject  passive voice 43 object 2|

» OK [ preposition (by, with, at, to, in) |

2P 2GS IPT 7370 object Sz - me and a present.

W3 voice change 731 BT &1 -

- | was promised a present by my uncle.

- A present was promised to me by my uncle.

« Active voice 1 double object AR passive IK faTas

-0 object- U3 ARED subject R @ W (AEAHF object-T fSa F41 )
- Tense Q3R person-WPK Auxiliary verb

- Verb-@d past participle

-aq] object

- by

- active voice-a3 subject-0 object @ @41 2|

QARY 979, | was promised a present by my uncle ez o yft 5fde Bwd |
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28) A train crossed a platform in 45 seconds travelling with a speed of 36 km/
h. If the length of train is 200 meters, then what will be the length (in meters)
of the platform?

4 : Speed = 36 km/hr
= (36 x 1000)/3600 m/s
=10 m/s

In 45 seconds, the train travelled = 45 x 10 m
=450 m

length (in meters) of the platform = 450 - 200
=250 m
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30) Each sentence has four underlined parts having words or phrases
marked (a), (b), (c), (d). Identify one of the underlined parts that must be
changed to make the sentence correct.

The price of crude oil used to be a great deal lower than now, wasn't it?

1) price of
2) great
3) lower
v 4) wasn't



AT : » SIAFRG IST0A BT WRAGP X2 - wasn't it.
- wasn't YI B didn't 2|
- PRI, Y used to 1< tag question 1 didn't/usedn't I |

31) Bangladesh Bank has approved the Digital Bank guideline keeping
provision for paid-up capital at-

1) Tk. 500 crore

v 2) Tk. 125 crore
3) Tk. 100 crore
4) None

AT ; - JIREATT AT ARCMEGS Tl R Qe GGG 13 AR Siqeama SR -
- FEREBTE 712 ARSI TSR FTZ (AP VA GTIE, (AN ITNEF |
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- 58 G fSREDTe 12 AR A RRPT SIGCama (7 ISR NP QTG |

32) Arhombus is a quadrilateral -

1) Whose all sides are equal

2) Whose any two opposite sides are parallel

3) Whose all sides are equal and four angels are equal to 90°
v 4) Both (a) and (b)

AT 2 /A

- T FOEGH bR I 51T \3 5781 AT 5g 39730 WHAT DT IISEA TP T B T
A

- STAISIRPA SERO I A A ©Ud Of T95 T
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- TR RS IS 2R 571 |

- FICK P RGP (P17 90°

33) In each of the following questions, choose the most suitable ‘one word'
for the given expressions.
One who plays a game for pleasure and not professionally.

1) Veteran

2) Player

3) Connoisseur
v 4) Amateur



YT » One who plays a game for pleasure and not professionally -Amateur.
Bangla Meaning: CTRE 5@ 31 257G A1 AGIFER |, SCPTMIR G Ro1im |

o FoPTA SRS ) X0 SEAR T -

<) Veteran

English meaning: A person who has had long experience in a particular field.
Bangla Meaning: Qfoseors = i

) Player
English meaning: A person taking part in a sport or game.
Bangla Meaning: (ARG |

57) Connoisseur

English Meaning: A person who has expert knowledge of something,
especially an art, food, or drink, and is qualified to judge and appreciate its
quality.

Bangla Meaning: 2i«4Tao bR (WD) ¥ 1576 ; <100 RERP , 5ToRMK : a
connoisseur of painting/wine.

34) Square ABCD is inscribed in a circle whose radius is 4cm. Calculate the

area of the square.

1) 16

v 2) 32
3) 48
4) None

4 : Diameter = 2 X 4 = 8 cm = diagonal of the square
let, the side of square is x

V2x =8

=X = 8/V2

.. Area of the square = x?2



= (8/V2)?
= 64/2
= 32 s0.Ccm

35) In a set of 3 numbers, the average of first two numbers is 2, the average
of the last two numbers is 3, and the average of the first and the last
numbers is 4. What is the average of three numbers?

v

N

) 3
) 2
3)2.5
4) 3.5
40 : let, the numbers are x, y, z
X+y=2x2=4

y+z=2%x3=6

Z+Xx=2x%x4=8
2(X+y+2)=4+6+8=18
=(X+y+2z)=9

. the average of three numbersis =9/3 = 3

36) “9I[ CR IR 5730 PR @17
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37) A group of 20 friends formed an investment club, with each member
contributing an equal amount to the general fund. The club then invested the
entire fund, which amounted to 1 taka, in stock X. The value of the stock
subsequently increased 40 percent, at that point the stock was sold and the
proceeds divided evenly among the members. In terms of t, how much
money did each member of the club receive from the sale?

1) 800t

2) (t/2)

3) (7t/5)
v 4) (7t/100)

~— N N N

A : After 40% increase, amount =t + 40% of t
=t + 0.4t

= 1.4t

each member of the club received = 1.4t/20

= 14t/(20 x 10)

= 7t/100

38) Which one of the following is correct?

1
v 2
3
4

Queen Elizabeth Il died of old age on September 18, 2022 in Scotland.
King Charles lll succeeded Queen Elizabeth.

King Charles Il succeeded Queen Elizabeth.

None of these

~— N N N

AT : The correct statement is -

- Queen Elizabeth Il died of old age on September 8, 2022 in Scotland.
- King Charles Ill succeeded Queen Elizabeth II.

- King James VI succeeded Queen Elizabeth.

3O, PP BB I - None of these



39) is not a form of data storage media.

1
2
3

va

Magnetic tape
Magnetic disc
Optical disc
A database

~— N N S

T : o COBNRTG « FRPR SFENFLT AP AT APTRP (OO TR 91 PR e 02 (OOIRS|
COIRS FOSIBSE ALTTD 73 ©ICsT SIsT IT | TAT-

> | ARHIR OIS fBeids (Primary Storage Device) \3

| GTIGIR COIRS fBwidst (Secondary Storage Device)

AR CHIRGT AT TP AT FHCHA I SRS | (AT HEATPIA A PRORGTI
CSCER RIGT TUF \3 FARPEAE TSR HENEH Ty IR FCCRANTFAP ABHR GO
oG35 3T 20 | (TFA- AT (RAM) \3 78 (ROM) T A KRR C(RCaTRA BRIz |

AR CONRCTR GEIAIST (IFRRIGR -

S | W €A CHIRS SRS FAfBORR S SRR SRS A |

2| AT FIPACR Ty AT (AT \3 (BT UL IS B fiers fraeer Ty a6y
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IEASTIR o SARAT T FOIR SRIFR Td) INTO 6 SRTFLP I T GRS
OIS ez |

- 6Ty, Aol o, Y, FBRofs, ansiais %, (orauis, & TR, ansiaits Gof
3N GRPGIR COIRS oK BRIz |
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S 1 YR COTTS APPSR S SRR 15T AP T |
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¢ | e 2112 IF 28T Y FCY Q K- COIRCS FRAPFO O 2 I J1 307 |



40) Name of the National Professor of Bangladesh is-

1
2
3

va

Prof A K Azad Khan

Prof. Alamgir Mohammad Sirajuddin
Professor Mahmud Hassan

All of them

~— N N S

AT : SO TIND
- SR WITNRP (fAcTst, <Ioet \3 s3RidTR) Brasare, Yot Squrlt foded [iE e «1ib
IZEA Tlf STORT W21 facmst A1 2|

ORI T -

- 53T IR fSEBTH TR \3 TR GRS, TSR IR RIS |

- GIIRIDF STHICHAT O/ IRFATTCR (APTT TP BT, A WS AT |

- IR STCGTATOIRTES GISIRIG 3L STCE TR PROCG A (AfSTTT TP T, HIZgR
4|

41) TG QI WY - I3 ¥ GO THT TPTO @I CHCa?

MU : o QG AL AT A3 X1 70K T 1T \3 WA AT AT |
* 0 (DRR)

- SRFO XA

- ﬁ@ﬁ%m= VAT,

o

- TR, TG,

- 2PB1e, (72d M |

o ‘@ (Rem) -

- PO A |

- AP AT = VAT,

e

- (TP A1 QfSIP S FHOT BN TT ©I5T FACE I3 RIS BT T 37|

42)
IIRPIACR TS Ry -

1) &fd



2) X
3) TIP3
v 4) ISR SR

II0T -

PR s’ 77 8 o ©iest Rows | 32 .

= @0y . @itorgd ey Rew ®id | 5Ro e wfiee @y 30 e 2erT 311 20 )
AT SRTFTS WEATHAT I TG | RITOG T CEATET- 15T, 1WA SoIRI-2Afew, wfdq
RIS, 9 \3 &R [IPTRY , it 2refo |

= FANDG : ARG X \3 O G ot TGl B | A3 WD AR [Kewy, [Reoma, 57T,
fera, fara Roma o 314 o1 | ReTw @y oM > stoq effer)

= JMPTOG : PTG I1Y AT TACEATDAT I | P (I \3 510 IPTOCG Wb |
JCPIR JCHT 2% \3 I57 ol KA AP, IPIOG ©f I9dT P | OIRIGT P G- PP A K[
MY TS, I 6T, BIG 30N IOPNGH WIPIHS 9 | PRSP RCITd, IR @157,
AR ST (@191, 6T AGRS IR0 DB AT PT 2 |

= ARG : AR QA W XTH, I57\3 IR WY FIT SEATBAT BT 2 3 WCR AT WALOG |
e 15108 I | RoIdIe <191, A<, <MCe, 5T 2RGho Q7 AEDS [ | a=Ter <=1, I5(
\3 ICPH AT&T [dT\3 IIPRCH Q T WD T T AP |

43) RIS XTI (BT B 255 IO 2?2

TN : T2 BoAISIICST R0 171 5115 2 | O BT SoA5IIICsT 5755 R o ol e
(T3 RN PTRIPIE WY 2P AT | BIZTST, WA WA (T S1513 RIS <1t 510
I A1 SRS REEAR ) Tt T Ao 53 $ad Bk Reabm 31 I

44) STRKTG R AW’ - AU ‘SRR (@1 PR @1 RNofE?

AT = = WGP PIRIP
P IR TR I 27 WGP DTRP | ALK IS0 [P TT T 2\08T) BT, ITT \3 ©RP QRN |
WA fFYT STNMER ITE AL ARG I 20 WGP IR | I P Tomcs @I, 3 \3



@I R @RICS WA PIRP 2T |
o "SRRG I8 AR’ - IPY SRFTS IR0 AT fioofg 20T eV @RIz | 5y aco @rd
R I 23 fd| O SERio M SRR WGP X6 R 2 I |

45) There are 3 doors to a lecture room. In how many ways can a lecturer
enter the room from one door and leave from another door?

1)1
2)3
v 3)6
4) 9

T : As the lecturer can't leave the hall by the door he/she enters.
So, number of ways can a student enter the hall through a door and leave
the hall by a differentdooris=3x2 =6

46) The world's largest international organization and a successor to the
League of Nations is

1) UNESCO
v 2) UNO
3) UNICEF
4) None of these

AT : SO

- Ricgs Jood ssiioe 51831 2T Sifosid (United Nations Organization).

- afb SfooreR (League of Nations) SGIsKI |

- )98 SR 38 TFRF TUMOHLY FAR PRPERL FHH WP TARPOIR SIS 510 2 |
- U T Y»8E S TGANE SNAPTHIPT XA SIGHRY e IPH R0 |

- GRS ORI 375w @515 |

- IG5 Y»0fD |

- SIS SO SN < 7P ST |

- IEHF TSI AN S |

- SR RS AR, [T, T&HIE |

- e O ot . 3@, arde, ST, 1, =i QI TR

- PPN MR @ 2D - BERE 3 @ - SO TR *RHA 147 2 T - enfoad
50, feferfsa

47) Each sentence has four underlined parts having words or phrases
marked (a), (b), (c), (d). Identify one of the underlined parts that must be
changed to make the sentence correct.



If the streets would have been clearly marked at would not have taken us so
long to find his house.

vl
2
3
4

would have

clearly

would not have

so long to find his house

N— N N N

AT : » SR I T WGP X% - would have.

- 903 BHfo I 3rd conditionals TToR IR |

* 3rd Conditional Q3 foRraTgam,

- If clause- @ T (had + V3) =, T #K39! clause a would/could/might + have +
V3 + extension <20 |

- OB fREgd If T clause 9 would have A3 e had I3 A6 3T XA |

48) Find the odd one among the following-

AT ¢ » WAL BDICDH -

- PPRBTRE TRIFTCIR AARBTET \3 fRIER Ty @ CosiTs AT (oA a2 IRTK FAT 2 BIP
WD 0 Ie7 =

- PPRBTR IRTRPIRIA S TGS \3 FPE\STIE TS FTofd IR RIST GRER TS 570
A

- WP AP SBITGTS 3qt60C67 (American National Standard Institute - ANSI)
O, ' TPLIWRK FNSTR (ATCER QfF e fagga a3 w3 i, fRowrfsie, 399(5/
TG TT foRad, TTPTS B8, TP, DR JeTH, PRFH, O A 7L AP
PIOHTR IR AP OIP AR o I |

- 99D FH FPd JEAIEA (SAIKE HOd A6 TRED R P9 |BM ICARIER Sy SRKAUH
WATRTD R BT oikigo 2|

- Y99 (A FHF RS BIRT Ty (O AU WAL f5E67 %2 CP/M |

- IRROOR AARIBTETAR oFca [RfoT (@ @it Fietd IkTo 2T A6 |

- STEITS WAL HETETE M- MS-DOS/PC-DOS, WINDOWS 95/98/2000/XP/7,
0S /2, UNIX, LINUX, MAC OS, XENIX, WINDOWS NT 3oy |

A=)

o C++ AT (oL eIorTst| U3 (ATsTie GRID Yob o e @ THREG R BB 3 |

49)



53" 3 DR XR_ICHICG WY TATFCH -

1) 13 @PT3

2) 21 3 AreIkie
v 3) s fegaa

4) oy 3 R’
AT :

= ACQNY .

1L ORI QFd 57 ¥R WE. @SERK BRI A3 W] 21 A7, 68 o foq , agd g5 <™
XSG I | LRI CF AR I Rod 2, TR SHBIRT AF 23R P S 7 ATUPT BT
IR T

T

o ‘o3’ IR Y - A

o ‘BR >R Oy - foaeE |

o ‘B’ XA WA - (P53 |

o ‘B’ I AN - ]

50) AL RGTAISIER AFSIATIAP @2 2

AN : AT ST TP SPIA6E AT (Sbr20-dbrio® 3R) AMHG 1R SR AT

TS RATIETP @A "G RO |

51) In each of the following questions, choose the most suitable '‘one word'
for the given expressions.

A person who pretends to have more knowledge or skill than he really has.

1) Renegade

2) Apostle

v 3) Charlatan

4) Apotheosis

4 : @) Renegade English Meaning: A person who deserts and betrays an
organization, country, or set of principles. Bangla Meaning: &=y |

(RTSARP) TTDIHN |, RITSTToD |, 58 , 21Es

) Apostle English Meaning: Each of the twelve chief disciples of Jesus Christ.



Bangla Meaning: fi® ©id 1 251RH G @ RS PRI (the Twelve Apostles) @z
fAReTd BIoR QAERTET UG ; BT T A6 RPCR IPSd, I St Paul. () €T
STATSHRF KD 3 T0d K& A1 AHTA (o7 1 'SP |

51) Charlatan English Meaning: A person falsely claiming to have a special
knowledge or skill. Bangla Meaning: @ 3% AT §1AR WORS 7501, GId 1 SPHTON
S0l I, RO 20 (< I O |

¥) Apotheosis English Meaning: The elevation of someone to divine status.
Bangla Meaning: (313¥) G317 AT QRIS ; GRY AT AI WG . A1 G (WP
TS ; ETF |

o SOA1R, @RI IR @, SIARMG QoFA SR &4 - Charlatan <o A person who
pretends to have more knowledge or skill than he really has 1< One word
substitution 2% IZM0 @ K |

52) What is the difference between the amount of interest earned on a
principal of Tk. 100 for 2 years at 10% simple interest rate and 10%
compounding interest rate?

1) Tk. 121
2) Tk. 120
3) Tk. 2

v 4)Tk. 1

I : Simple interest = 100 x 2 x (10/100)

= 20 taka

Compound interest = 100 {1 + (1/10)}2 - 100
=100 (11/10)? - 100

=121-100

=21

. Difference = 21 - 20 = 1 taka

53) In each of the following questions, a sentence has been given in Active
(or Passive) voice. Out of the four alternatives suggested select the one
which best expresses the same sentence in Passive (or Active) voice.

Why do you waste time?

v 1) Why is time wasted by you?
2) Why is time been wasted by you?
3) Why has time been wasted by you?
4) Why is time being wasted by you?



AN = GRS 034 Passive voice T Why is time being wasted by you? « G
J1P3 ¥4 WH word @349 : Who, Which, whom, where, when, why, whose, whom,
and how (T ©F 27 544 passive voice WH-word it ©F 27 A1 | » Active voice
(A passive voice IIW fAWF . - Active voice O Wh word 0 28 31 - Tense 3
Person ST Auxiliary Verb 350 21 - Object 0 Subject 21 - Tense TIqRl IGHR
1@ be/being/been IO 2| - §&1 Verb 7 Past Participle IC7| - 5HK G 2rQ@1€p B2
IC3T| - SYoT1R, fRETER 5136 T6< - Why is time wasted by you?

54) Each sentence has four underlined parts having words or phrases
marked (a), (b), (c), (d). Identify one of the underlined parts that must be
changed to make the sentence correct.

Unless two or more members object to him joining the club, we shall have to
accept his applicationfor membership.

1) Unless

v 2) him joining
3) to accept
4) for

AT : o 20T SIARMG IR B WXL T% him joining - A4E@ him joining 99 & his
joining 351 A0 ©= 21 | - Correct sentence: Unless two or more members
object to his joining the club, we shall have to accept his application for
membership. - Q1F, him X% verb word appreciate 13 object. - However, in
this context, a possessive pronoun is required to show that it's the act of
"joining" that belongs to "him." - The gerund (joining) should be preceded by
a possessive pronoun (his) to show that it is the subject's action.

55) ‘FCIA’ I S AR PIATD?

AT 2 & PR ST

Q@ S ROTE 1 RO SRS 2/ S RO 1 RO TSRS 20 ST 2 Q3% SR-0H
W3 ALTIRCH ASRHT 2 I I W FHARI FeAT | T -

- A @ °M = T |

- @3 B iR = <M |

- 1 TI6T TR ATPT= PIHTTT

Ay @ 3 = AR Zonf



= RCRORTES 219 1 TR ¥R 2[77M I, ‘TR’ \3 “Had’ BN 2] 2 | (T -

- T2 (T T = FRGE ; [F7 2RPFR STEIG G131 U B PRV TR (R Tald (@11 K ]

- 29 @ d]1 =A< |

TP MG ISP SR T PRI B6 fH “H3Q @ T’ AR B6d W 513
F AT PR T >R T2 BRF, TG ST\ T2 AIRIT @IS IR FAT | SO
T @ T = FCId < S RIS W |

56) NP} ATSAR WGTRG ¥R IR @1 T T2

T - = JRY] (N

ACTSCAR WO > IR P JIP ARV (1Y TCH IR XTH O QTSTOT S IR | (THA3
o T 1P ;'O ST RPFDsIT QU0 BoAEG [0z 1

« Q7 IPY A : 'O 3K PPFD QU TS T2 T[T 'GOR FAFsIT Q4T SRS
AT |

1) @t

2) oI

3) ¥
v 4) SRl



A : o ROl (Rey),

- ST I TRFS ¥ |

Y 5

- AT g A1 <=7 . Wy, IR, e, e, maafa, madr, marsy, o=f, ©rg, 59,
©EA, GI6S, W, Aapd, [Faaare, orrd, 7, Maefs 3o

D

« Tar (ReT),

o ; ol

« 71 (Ries),

Y - oK, 517

- WA g ST <7 . o, “m2s, 17, o0, @ft, @, 951, 3o |
* o (Rem),

Y- 33, A3

- QAT [ Pg STHLF <17 . 21, 37, I, IR, @, AT |

58) Each of the following idioms/phrases is followed by some alternatives.
Choose the one which best express its meaning.
Hush Money

1) Money overdue

2) Easy money

3) money earned by wrong means
v 4) Bribe paid to secure silence

4 : Hush money (noun) Meaning: Money paid to someone to prevent them
from disclosing embarrassing or discreditable information/ Bribe paid to
secure silence. Bengali meaning: (S4RTS IETFGAP I NPIOPI (PIATPZ) BTN
(\STR Tf 276 WY ; BT9AT (M9TK J155e7 | Example: The two men are paid
compensation and hush money by the mine owners over the deaths.

59) What is the decimal equivalent of the binary number of 101117

1) 21
2) 39
3) 42
v 4) 23



JAM:(10111), = (1 x 2%) + (0 x 23) + (1 x 22) + (1L x 21) + (1 x 29)
=16+0+4+2+1

=23

(10111)2 = (23)10

60) TP AT SR DN I50D TN PAEH | IR0 205F By o -

1) CTRPIT AP I, AT DFA SN I3 |

2) IR I IV, ‘AT SIS A I3 1

v 3) TG THI X, DI R W19Adl S A1 959 1
)

4) (ETPIb AP IS, ‘TISIR FF Q7L FTHA AT 3537 |

AT : = BT 13 AFR- AOFF B \3 EPF i |

QT T ISR PAT ARPS TFO 2, O 2OPF SF I | A0PF BiGo IGR AT TalT b2 (¢
[ 7)-aF TL ACP IR TR PAT B0 PR AT FAT (,) IRRR T W | ASE (T AR
AOFF ST G T | (T : - (ARPT IS, QTR -1 ARG @3

- TR WITHIP eV, G2 PR AT SR WK I3 |

o ETF B .

@ AT IFR AT WAR SRS ARIRGE/AMBRE I AF1RS 2, TP ARTF SR I
HRTT SRFCO @11 Bad 4 f5F ACF a1, Q72 2YF Tl oz et ‘@ <= IRTO |
QPRI IEPT G032 ‘@’ SRATSRP SREID AP I QG G - B Gl QA0S 2 |
OR ‘@ BTGNS WA &S B 51 X0 M | (T8 -

- (IPT I (@, B IR ARG foetd a1

- IO D HATHCEAH WA IS WL PAET |

61) The 'Matarbari Island' is in-

Maheshkhali
Sandwip
Khulna
Barisal

vl
2
3
4

N— N N N

AT : FORAMNG e @

- HTORRAING e (& 21 IRATHR D0 3 fofoed [ @& |

- a3 Rye @aTD BT RGIsR FERTER (SETR TR B A HTORATO! \3 4TI
BOIRIE »,858 T GO A3 Rye. arxgfb foefir 31 703 |

- Y00 (FS\3ATG U (TG FfD 380 (ol XA |

- (1D B ATd FHOT I H00 36D |

- SN B0 SFIA ST SRFT TP WA FoRAIGS 13 [ije |

- Rpe. 3 SRR F1oRHaR SToRRITGE ‘Rje -7 ¥R 10T (GIR (@R 30T |



- 3 TETIZ, 2030 VIR FRPFTIEAPGIR 516 2 FORATG RS @R AU 360 |
- IPFTIAP BT SFCS VO TS KT ToTd 27|

62) ‘¥’ <R RIS <19 @1 ?

v

N —

s
@
bl

w

)
)
)
) TSR

AT 1 » '8 7 S oo == - R, 75
TN,

o ST XA RS ¥ - fama |

o ‘TGOR’ XER RoRTe *7% - fadr|

o ‘@' >R RIS > - FAKOT |

4

63) 304 RO’ - ISR T FI?

AT+ « 30 ROTT AT T - AT AT ALY | » AT g SFFoA ISR . - A 2T
ISR T - (ORICAMPII | - (5P TROK TSR W - fagelt 3 [ iy @1 | - ‘TR T
TSRO WY - GNP | - '(5TP (YR ISR A - 53 e |

64) 1A TSR RoqAF?

1) 7 TR
v 2) *Reod PR
3) 5K TRKIT
)

4) TR IJTTAT

IRV R GIQUKIRNIE IR GRS

) R A - ST 7

) XRCA PIFF - SR/ 99

5T) ST ARKT - SIVARK T,

Q) TR IKATAT - ST G|

= ¥R PIRR/ 7 TS/ S-SR TR I]AMQY IS (BIRPE SRS IR W
AR G|

W QT WP REEAR SRl S ¥Reod RIRR Qs fom 2oswa Raasar a1 9|



65) Which is the larger between two numbers if they are in the ratio of 6 : 13
and their least common multiple is 3127

4 : Let, the numbers be 6x, 13x
HCF is x and LCM is 312

6x X 13x = 312 X x

=X = 312/(6 x 13)

=4

Larger number = 13 x 4 =52

66) RAM is also called as -

1
v 2
3
4

AN : » DFENETR @A -

- PPRSOR FFR ALTTS 2 AP | T -

S) TP/ 24Td GTER (Main Memory)

R) (T SR (A (Secondary Memory)

o AP/ 24T (FEE (Main Memory) :

- RIe. 212 3% T (5T @ 501 (RTINS S1APPS GIbT J(7 1 BICHE Volatile Memory
NGl

- RAM( Random Access Memory) 432 ROM(Read Only Memory) & a1if&e (Faid
AT AR |

- RAM (@ Volatile Memory ICe7|

- ROM @ qd- Volatile Memory 1

* (519 52 (14 (Secondary Memory) :

- (T (TR FRO0 P YA THIRP FAIP A I | @84 : Hard Disk, Pem Drive.

Virtual memory
Volatile Memory
Non-volatile memory
Cache memory

~— N N S

67) Each sentence has four underlined parts having words or phrases
marked (a), (b), (c), (d). Identify one of the underlined parts that must be
changed to make the sentence correct.



The manager askes the worker why was he again disturbing the schedule of
production.

1) asked
v 2) was he
)

)

3) again disturbing
4) of production

AN : » Embedded Question: - IR TR wh-word 0 (T 2 (o I 013
embedded question. - Embedded question, English Grammar 43 a8d a3fh s
@A BT assertive IR YT AP interrogative 1 2PIRTLP I1PY SAR X0 AT W | -
WS ACIA FO PY 2°7 A1 - Wh words 52 sentence IR JI I3 2P AR Q15101 IR | -
OFA PR AU WT QARPT AFARP LPIRTGP IPT \3 D AMH | » Q KJCR 103 AP e
sTOd (AT 5CT| » Structure: - 8 clause + wh words + subject + Subject U< Tense
OIFIRN verb +314RT I IR + full stop/question mark. - 207 BfERG I3 The
manager asked the worker why was he again disturbing the schedule of
production. - QIE, > clause WI%F Wh word IGWg, 58 Q32K subject a1 ac
auxiliary verb 1Tg R 13 WAGF we | - 58 I0IT T - The manager asked the
worker why he was again disturbing the schedule of production.

68) Which of the following is the device used for converting maps, pictures
and drawing into digital form for storage in computers?

1) Image scanner

v 2) Digitizer

3) MICR

4) Scanner

74T : FETEBRE . - RfREGREIR X062 I GRCEK 3995 OB | Thad CHa AP STivd
TIRICG\S IT1 2| - FEROGRER @I Sy a6 RO 4Rt Fevd 1 SBIReAT IR P |
SReT iy I FEfAeReR @ICE @il g, @41 1 Wikl 2, W Ol Fiabe @R I | AR
QG 391 GRIFO FI5TS Q0 TR AT A3 IS G I8 \3917 (RIS FAb G201 IR |
- FEfETReIRR SR R s, Jer ARG 2o &51d 5ierad PRSI 39(G BT IR |

69) The 2023 FIFA Women's World Cup took place from 20 July to 20 August
2023, was jointly hosted by -

v 1) Australia and New Zealand
2) Australia and France
3) France and Germany
4) France and New Zealand



1A : REPT A1 RIPTof 2030

- WICATS IR WO o 3 TS ity |

- (T ST 20 TETIB-20 WISFG 2039 |

- 30 PG, 2029 FOfde et a1kt RRIPIoR PIRATE 3P -0 (ST AR 5hfora
QAR A |

- P70 3B CiF 3L T U3 7D GO 1) \3 9P Y Oy R [egp1o foraz |

- 1Y RPTPT91 PHI 2020 U7 Y BIRRIT Cord, ITATH W9 BTG QI TOR BT WGP
IRZ 00T |

70) In each of the following questions, a word has been written in four
different ways out of which only one is correctly spelt. Find out the correctly
spelt word.

v 1) Sovereignty
2) Soveriegnty
3) Sovereignity
4) Soveriegnity

I : Sovereignty (noun): English Meaning - The power of a country to
control its own government. Bangla Meaning - SRCO 5801 |

71) Which of the following computer language is written in Binary Codes
only?

1) Pascal

v 2) Machine language
)
)

W

C
C

I

—+

AT 2 » (T ST SYFTT RN @PICG @47 27|

« (819 G (Machine Language) :

- IROTIR R A7 JRR ORI @Rd Ot |

- IROTIRR for ST @Rd ST A1 faas@a St 7e 21

- PRNOTIRT TP ST et 3 faesE o |

- ORI BT AT (1 932 0) T QAT 17 IR PR FIPY @41 |

- PMOTR QYT EFFT SRR IO I |

- AP SR TR (amaims fadiftad Sy SI-m (ATSICER 2ACITSd 20 41|

- OIS (PICAT ST (ATSIT 5T BT A RSO PIITAIAR DT B ORGSR ST
VI AR SRR 2T I @ 7|



« &% 3RQ @ (High Level Language) :

- TR AT W HI ST (PICAT PO I IO (PTG 6 | 0t 323 GrK 503
- A SR TR 7R TR Ol) BHBE ORI B8 |

- BRI SR T BIETST AP ST A% : BASIC, COBOL, FORTRAN, PASCAL,
C++, JAVA, PROLOG 3u7fr|

72) Which is a type of computing that performs computation, storage and
even applications as a service across a network?

1) Parallel computing

v 2) Cloud computing
3) Distributed computing
4) Virtual computing

AT : » FTOT IERGTHR 2 (BT COIRT, SO, GIGIASN, [@H\3TMRBL A7 FOOSWR T2
FTRCACHR T Rifoq AR k=R 471

* FTBCGA TGS (Model of Cloud Computing) :

-FTOT I GRT ez, TR Fofars FTOTE fod SIest ©Ist BT | TUT-

Y. Infrastructure-as-a-Service (laaS) AT CRPTIITHISTO T -

- 3 4RCR R SRS AT Infrastructure SO (a1 2 | TrRfie [@5\0T1F, B3,

- 00 SR4T X, 5WPE ST et gl 100 A& 132 SR T SR 3] DGR
fro3 o |

- WTETGH I3 3IF5P FERST FTOG (EC2) U3 4RIK GRIK BHIZA |

2. Platform-as-a-Service (Paa$S) 31 H0PANSGD G

- QYT SRTAR SIS @FE SroT J1 e SRt (Rl 37 AT, I) B g 1d (B FIO
AT IGSEAT |

- QST TN 3fed, TRCEF TSRO Azure A3 GRCR (IR BHTRA |

0. Software-as-a Service (SaaS) 1 FPL\3MH GHT

- SOOI WIS Q SRS A FTOG RGP Fd APBT R, T BOGIRKT FTOCGI G
52 Fd @RGCEZG SPH\3IR IR FAO R |

- Google Docs 3 AR GRIK SHIZA, BT TP T FFTHOE WP 2R 51 PTG
(GICED, CAGRIT, (ACSCTIE) BT AN |

o ITOT IENRGHL T APTRCST -
- FTGTTR TRET A1 B TR FTOT 3SR *miars o iest ©ist 311 T | I4-

Y. ARIRT ITOG
- AT M@, R SRS #d, AT TG I 2 AR ITOC | (- WHTSE< EC2 |



- Oft GEFTHRCR T O |
- Amazon, Microsoft *Rfcie IR0 TFGH |

3. ATXOT FTOG
- (@I G IR frow Rfcaed SIS bTeitdiK O fite (5T GFORP3 FTOT Fwel 2N
2R I, OIP ATO0 FTOG A |

0. BT FTOG .
_ 73 31 OCOTRP WIS 23S0 UL TR FTSCGH HLRRIND 23T ITOG I

73) Each of the following idioms/phrases is followed by some alternatives.
Choose the one which best express its meaning.
To look down one's nose at

1) To backbite
2) To show anger
3) To insult in the presence of others
v 4) To regard with half-hidden displeasure or contempt

AT : » Look down one's nose at (idiom)

English Meaning: to think of or treat (someone or something) as unimportant
or not worthy of respect

Bangla Meaning: I 1 ZF TSI 1 STRACAK A1 TSI B3N BT 1 IR PAT, TRIGI]
BT A1 BCFT AT, TR AT \3 T BN G| ST T (ST 03IR SFF T GRS - 3o |
Example Sentence:

1. She looked down her nose at her neighbors.

2. Writers who look down their noses at popular culture.

o T \BCAT] &Y -

) To backbite - #RHHT T |

¥) To show anger - (@14 ; QY T 15T 27T BT |

sT) To insult in the presence of others - TER SRR WorHTd 71|

) To regard with half-hidden displeasure or contempt - (ST W2 1 YR 18O
AT

* Therefore, "to regard with half-hidden displeasure or contempt" is the
closest meaning to the idiom "to look down one's nose at."

74) In each of the following questions, choose the most suitable '‘one word'
for the given expressions.



The conclusions derived from experiments showed deviation from the
common rule.

1
v 2
3
4

Heterogeneity
Anomaly
Anonymity
Strange

N— N N N

AT : o TP SIS XHSCEAR JS -

<) Heterogeneity

English Meaning: The fact of consisting of parts or things that are very
different from each other:

Bangla Meaning: Ssas9ol ; RETSTOROT |

) Anomaly

English Meaning: A person or thing that is different from what is usual, or not
in agreement with something else and therefore not satisfactory:

Bangla Meaning: SISl 1 TToFa! I3

51) Anonymity

English Meaning: The situation in which someone's name is not given or
known

Bangla Meaning: I6RIGK T8 (@3 Q84 ORI ; TAATH & 1 WAPTG T 1 TR |

¥) Strange

English Meaning: unusual and unexpected, or difficult to understand:
Bangla Meaning: WSIdo=({, SRFO7R, THER ;, A1 WICST CHRAT/CT/SET Ifd 5 (7% T
PRCT) R

o SJOA1R, @RI A0, WP SRS <SR 74T Anomaly <=t 2cy SARG IR 76
Y PP FACE |

-"Anomaly" means something that deviates from what is standard, normal, or
expected. So it fits the context of the conclusions being different from the
common rule.

75) ‘o @p Tz OfF $2 RBIRAT - ‘@9’ W1 6 W 2fprT IR ?



AN = » ‘P @P AGTZ 9, F2 RS I ‘@Y’ A1 Tafers' Tl 2/ ePT -0z | &3y,

- fAfTs ¥R WL TATF |, ST 5 AATSA |

= o5

ST G QT YR T XTH DT A BT 2R 2 I MDD PR ST FoAES I
5231 KRG TOT1 IR IR | QST WGHs! e “RKbo |

o J1AT R 7 W55 AT | TH-

ofSs, Rar, Rxd, 513, 8o, rfd, @0, T, I, 2, [oF, I3, IR, TS, T, 218 TCF,
I, O, AT, JICH, &l {560, afts, «1oF, 7[1, G, e, 36, 5K, 2300, TO, (AT,
T, #z, owd, (God 30T

76) Russia launched a special military operation in Ukraine on-

February 24, 2022
January 24, 2021
March 23, 2022
March 21, 2021

vl
2
3
4

S~— N N N

AT : o AFR-ISCTFT J7

- ATPRIT 18 PPN, 1033 BCHE NP AT SF I |

-3 THR 747 Ay MO Reagead 27 3BEICPR SR I STHRS HRUATCSI FAa=TS TG |

- 3T PO AOS QSR B ARIOIR (2PFTNCT JIRRR O fA-TGT51S A0 3BT
WEET P | A3 T& AT HETaId ICNZ |

BT A THAT \3 A F5H1 oIS AP \3 SHRRP STOT AT PR | JPIFIC IR
T (O-5TIT1R IZG A BRATY AT T 2|

- 0% \3 TIROSRCTR TR AMPRI-3OCEFd AT AT RS 5 s 31- 22 T,
RO

- BRI FI07 G I - BT« |

- BO(F(H ATTHTA! RT© @ TR B TRFS- 9 Jil |

77) The computer command of 'Ctrl + Alt + Delete' is applied to-

1) Copy text
2) Change a password
v 3) Restart
4) Shut down the computer



AT : Ctrl + Alt + Delete J1-QTE XBHIT FASG FLRTG FRMOOR reboot/restart IIR
T I]TO 2 | 93 process b RIS I 20 PFBOR hang T (I TR @1d
application TS 311 3% I M| AR, 'restart' U7 9B phase X% 'Shut down’,
©13, AfIPO SIZWAIST B8 f20¥ 1) Shut down the computer @1 27 | X, IOFT
2SCT< Windows Operating System @ 'Ctrl + Alt + Delete' *G310 F 519 Task
Manager' open |

78) The 2023 ICC Cricket World Cup is an international cricket tournament
which is hosted by India. This is -

1) 11th edition of World Cup Cricket
2) 12th edition of World Cup Cricket
v 3) 13th edition of World Cup Cricket

4) 14th edition of World Cup Cricket

NN = TR Pgp1o1 fF P 2030 -

- 3030 b Tl TR Tgfdo 2 |

- «ft Regareor 35z Yoo TR 2w “Rkifvw|

- 3030 RAIFIC GRS 59 IR TCOl fr b RIPIoR TGP 2R Ge15T] 10 P |
- 1D AYFINRR HCOT AFF Ol [F0 ARSI ARBTEA I |

- SRR b0 7 Q3R X 7 Q50T 16 (AP T 311 27 |

- 305% \3 3030 SR RPIPT9 ARKATOT Yo Ao FNAHT TS 2 |

- RPIPT91 ©F W ¢ WIRF UL S TSI PIRACER FHH O X |

79) The name of a submersible belonging to U.S. company Ocean Gate has
recently missed in the Atlantic Ocean during an expedition to view the
shipwreck of the Titanic is-

1) Diane
2) Berenice
3) Titanic

v 4) The Titan

AN : % IR0

- BTR0TE T FIfET Tooffd \3¥MACsIo1 Wi3s1s QBTh GRIGIAS |

- O3 THOT 22 PO |

- \GTASTT @TNAR 25T STRATT>e SR 25 Irat 729 TS AT |

- «ft 51120 SfFer Q3R “ARPAAR APIonFT SITRET 72 (BTT FRERE Tlf IR0 |

- TGP TSI AT BIRG AP LT SIS SR FACO TGO 7T 2,@0,000
1P TAR |

- b3 G, 2030 TR0 5T AR 57 STRT 27 SRR S0 BR0IAR Qs1icdtst Rifveza =



IR |

- 30T T, 2030 TRBIAF KRNI I AP TAGHAETA! BRI GIR0 AR KR AR
IA|

- BIRGTI Sarey (A (D 5, w00 P (8bb fITR) 7 #I1S izt |

- 3B A @TT STCER T, TIRETd B ISR AT AP TOT A% 8¢ FAOR J0y QISTICnsy
R |

80) In each of the following questions, a sentence has been given in Active
(or Passive) voice. Out of the four alternatives suggested select the one
which best expresses the same sentence in Passive (or Active) voice.
Please help me.

1
2
v 3
4

You were requested to help me.

You are being requested to help me.
You are requested to help me.

You have been requested to help me.

~— N N N

4T : » Active voice (@ Passive voice 1 foNEHA ol -

- Active Voice @< object T Passive voice W7 subject 20

- Tense OQRN Auxiliary verb

- §1 verb W< past participle + Active voice 43 subject o Passive voice A3 object
27 U398 OK (& Preposition (By, with, at, to, in) I

- Active voice U< BPTO Please A passive voice 4 you are requested to I,

- active voice f0 present « Itz B2 passive voice 4 present tense XJ|

- fRred 53 T8 - You are requested to help me.

81) In each of the following questions, choose the most suitable ‘one word’
for the given expressions.
A person's first speech.

1
v 2
3
4

Preface
Maiden
Opener
Extempore

S~— N N N

AT : o A SIS XFHSUAR FKS -

) Preface

English Meaning: An introduction to a book, typically stating its subject,
scope, or aims.

Bangla Meaning: 3T ; AJRAT|

) Maiden



English Meaning: An unmarried girl or young woman/ being or involving the
first attempt or act of its kind.

Bangla Meaning: et ; QIRRTERGT G, A/0d WIRRT SKGE WK : maiden voyage.
maiden speech TATECD A-1510 SR AT SIET|

51) Opener

English Meaning: The first in a series of events, games, or actions/ a device
for opening something, especially a container.

Bangla Meaning: @ (A& ; TR KT AT T (FATO QISPIHR IR0 )

¥) Extempore

English Meaning: Spoken or done without preparation.

Bangla Meaning: *Rfb31 A1 *X2R86 210 (3@ 31 IS 91 F0), TAF0 70T |

« 35 TG T - Maiden.

- SRS AACHCT FT5T0 SR AV O %@ maiden speech phrase 0 3@ 23|
- @Y, WoPTd maiden IR UL W5 W21 ST A Person's first speech W3 sod @i
AP T 1, O3 1ff3 51 T |

82) A rectangular sheet of paper, 10cm long and 8cm wide has squares of
side 2cm cut from each of its corner. The sheet is then folded to form a tray
of depth 2cm. What is the volume of this tray?

1) 32 cm3
v 2) 48 cm3
3) 49 cm3
4) 54 cm3

AT : Length of tray = 10-(2 X 2) =10-4 =6 cm.
Breadth of tray =8 - (2 x 2) =4 cm.

Depth of tray = 2 cm.

~.Volume of tray = 6 x 4 x 2 = 48 cm3

83) Secured Overnight Financing Rate (SOFR) is a benchmark interest rate
for -

1
2
3
v 4

Dollar-denominated derivatives
Dollar-denominated loans
Dollar-denominated investments
Both (a) and (b)

N— N N N

T : The Secured Overnight Financing Rate (SOFR):
- BT SGRARD TRATRL @G (SOFR) XA GAR- TGN DS (GResbws (Dollar-



denominated derivatives) 132 @R (Dollar-denominated loans) & Q3o
QAR 5[ 2 T TG SORANT TPRE &6 (LIBOR) & AR5819/ 0T |

- R0V AEK Gd LIBOR-AT BTd 92T P SOFR |

- SOFR J4& WP - QAR TSR (BT ISR TP Q38 IOHTA AR Sy P AT 271
I

84) In 2024, the total number of days is-

1) 365 days
v 2) 366 days
3) 364 days
4) None of these

S— N N N

AT : TR @I FAR RS - - ¥[5-> - S I 8 ey fFsey [Rerey 21 W3R Yoo R ar @
O WG| (THA, 105G, 2030 QIR 038 | W, - X[H- ; FEATL M 8, Y00 UIR 800 FIBCE
B fasey Rorey 21 orte Wigky| @84, Yoo, 2000 UL 800 | ATEHT TN, - WY X
P ITGRG @151 IO | - BF ALEATDAR (OG0 2038 H WY QI vy 1T

85) Each of the following idioms/phrases is followed by some alternatives.
Choose the one which best express its meaning.
Don't stick your neck out

1) Interfere
2) Look outside

v 3) Invite trouble unnecessary
4) Move



A : » Stick your neck out (idiom)

English Meaning: to take a risk/ it means you take a risk by saying or doing
something that other people might not like.

Bangla Meaning: W0 Wo2& IO 24 QFd g I8 1 AR T S Jpa Y
CpeTT |

Example Sentence: I'm really sticking my neck out by investing my money in
this idea.

o TPPIA BRI SR T -

J) Interfere - TARPRBET/ FRMLPRBET AP 2T BT, BOF BT, AP ST |

) Look outside - IR G4

) Invite trouble unnecessary “HAATSARTGIR HFP @37 T ST 21T

q) Move - B1d 1 SREIER 2ARod |

o STOAIR, @RI IR (@, SIARG QoA SR & - Invite trouble unnecessary - Stick
your neck out 93 idiom 03 @Y 2P P |

- Interfere -1 d1F SIAET AT IBCH FAT QIRANCENS, A TR SIS I JPCO 2 -1 fa00T 1|

86) Bangladesh became a member of the United Nations in-

1) 1972
2) 1973
v 3) 1974
4) 1976

AN : SROFRY \3 IS

- AR TRITOR 217 DR HCER b AT TG FHIATR Ty W7 I |

- 50 WISFB, YA A 51 IRATTCR SHEHCH [PTa (0T 2T I |

- IRATCCR SROHTR BT G B DA GLHIK, Y8 e |

- JRSATCCT TG SOUTH TS |

- JRSATCCTP AV TUOHAT FRET SHNACH F51S SART I T8 BT |

- 3¢ GTBFA, Y8 FH FIRT ARG 1>Td WK IG I FFEIA IZAT IR Gl
2T PR

87) GTa <G Sofsisf ey sifdo xaem?

AT 2 o JIRET T SAFNCST STFS *11 TR | Q4T TIOT (6, @I RoGAT TrstT) 1T
X A AT SIS TG (SRR TG IRRIEL TS T15) 1= 5190 20z |



IR O XTSI 5130 2 | o Torsis . LT O (R <R T <14
TOR I A0 T0d XK 5159 I, (TSP AT B35 | « 12T SR IRAO S5 Rod ©iest
OI51 PAT AR | T ., AT JREAT GsT, . TRFS M O Go15Fs( R 0, RO S5

88) ‘SR’ (PTd YR XT7?

1) RFIH

2)0 —n%maf
)ﬂﬁﬂmrw
) PIFPID

v

wW

4

AT 2 HLATRAIBP XA

AT IS SITAR RN QIR | @ 5K TR (@1 ROT oW, Wi (@1d A1 1 I8 A1 (@1 323
AT IR AT I, BIP FARGD X7 A |

@EC ; - 9F TR |

A1 SRR AP, FTIF-PTH I (FFAT-205%) WG,

HRATRBP X7 8 AP -

S, TGP ST,

2. AT AT SITARTED SR,

O, T 1 ?RRTGD A,

8. GIRRBP FAUM |

o AT AT SITARTEE AT ; QITMLFAR AP3 QTP SITAT FA @ FATE 2T I, B1-3 AR
AT SITARTED ST |

TH . T2 IO AT HO MR SFTE IR AP | 5 (510) W2 (MPFT) = 5713 | A1d 1
AFF | QY- ST Md TR ST Q3P e T A2

M,

O3 1A K IR \3 fafeifts, Faa-o0 i (R FAT-2023) TGHE, FRARBP <% 73
Y. TGP FALAPTA |

2. SRRTBF S AP |

ORI, SRRIEP AP fOd 4R |

Y. SR SRR,

2, OIIY /AT,

0. AR SRR |

R 7. . 2pIf ~RTod I3 (AT T AN | T I3 TWIHAIR, AR AT SITARTBD SRR (A g
S\ TR | 13 F9 B 4 A WIE-T “[RTod I8 WG 1T SoF191d I |

T . IS ORK ATPAT 3 fAfeifs, Taa-oT It (F1RFA- 205 \3 033) |



89) Elon Musk has bought Twitter in 2022 with-

1) USD 42 billion
2) USD 34 billion
v 3) USD 44 billion
4) None of these

147 : [N -

- P2IRA a1 ARG IR QA XACE |

_ 3R X0 STHIGR 1S - CIISTICTST I3 \3 HIFHEIS IR \SERISIES |

- DR IS FIeTP 3579 7% |

- ITRA dgd 2f4Td fofd) Pl (PR\3) Tared qalifs 38 faersiieR Rsso[ Kotk 5@
AT feTST STPIIRCAT |

- T30TRA WO dTd DR AFITIF |

- 3033 I 3679 |1% [30R FY I 8800 (I el A1 88 RfeRId Ten |

~— N N S

|
10+ [25+ [108+ \/154+ V225

90) What is the value of

A
w N
R N B~ O

I



\/10+\/25+\/108+\/154+\/225

=\/10+\/25+\/108+\/154+15

=x/10+\/25+\/108+\/169
=\/10+\/25+\/108+13

I




91) If 0 < x = 1, then which one of the following is the maximum value of (x -
1)2 + x?

qAT:0<x=1

=0-1<x-1=<1-1

=-1<x-1=<0

the maximum value of (x - 1)2 + xis=0%2+1=1

92) The 8th five year plan of Bangladesh has been formulated for the period
of -

1
2
3

va

) 2019 - 2024

) 2020 - 2024

) 2021 - 2026

) 2020 - 2025

AT ¢ PAKERTIPT TP -

- AT Q 18 bfD 11T AP 12 1 TWT |

- 3 Ty Af PATRST “ARPea ST Tz |

- b IREIRPT AP AT ICAZ |

- 3% BT, 2020 BIRCY IR ARPHA FRATCER FLRT LA TSI bF 2161
HARIPTAT 202 - 03¢ FIH " OB A (T |

93) A machine is sold at a profit of 10%. Had it been sold for Tk. 40 less,
there would have been a loss of 10%. What was the cost price?

A : Let, cost price of the machine is x taka
Selling price = 1.1x taka

ATQ,

1.1x - 40 = 0.9x

= 1.1x-0.9x =40

= 0.2x =40



=X = 40/.2
= Tk. 200

94) What would be the value of 20% of m as a percentage of p, if 8% of m =
4% of p?

1) 80%

2) 16%

v 3) 10%

4) None

AT : 8% of m = 4% of p
= 8m/100 = 4p/100

=>m = p/2

= 20% of m = (p/2) x 20%
= 20% of m = 10% of p

95) In each of the following questions, choose the most suitable 'one word'
for the given expressions.
One who has suddenly gained new wealth, power or prestige.

1) Aristocrat

2) Affluent

3) Maverick
v 4) Parvenu

YT » One who has suddenly gained new wealth, power or prestige -
Parvenu.

- Bangla Meaning: 2T (33 575, 50T 1 AR RPN X2 5 MR, ST
I

- Example Sentence: | believe in blood, and want nothing to do with your
parvenu aristocracy, be they never so rich.

o FPTA BTARMG Tef XS T -

) Aristocrat

English meaning: A person of high social rank who belongs to the aristocracy:
Bangla Meaning: TG0 @6 ; BF IO ARG |

) Affluent
English meaning: Having a lot of money or possessions; rich
Bangla Meaning: (R ; GA1d , S0 ;, YRR ; 2ATpTE



5T) Maverick

English Meaning: A person who thinks and acts independently of and
differently from others.

Bangla Meaning:

(>) FARPR FIARIT TRER 2T Y Y @OR AFd (TR ; (FPHFRP) 210 210 YR @GR Q7
G

(2) (5711 & WFd TP : He is a maverick person.

96) In each of the following questions, a word has been written in four
different ways out of which only one is correctly spelt. Find out the correctly
spelt word.

Commission
Commisson
Commision
Comission

v
2
3
4

~— N N S

Iy : Commission (noun): English Meaning - 1. A group of people who have
been formally chosen to discover information about a problem or examine
the reasons why the problem exists. 2. A payment to someone who sells
goods that is directly related to the amount sold, or a system that uses such
payments.

97) In each of the following questions, a word has been written in four
different ways out of which only one is correctly spelt. Find out the correctly
spelt word.

Incumbent
Incumbant
Incambant
Incambent

v 1)
2)
3)
4)

4 : Incumbent (adjective): English Meaning - officially having the named

position. Bangla Meaning - (1<) RIRIg/RARNT 367 |

98) The Headquarter of UNESCO is at-

1) New York
2) Rome

v 3) Paris
4) Geneva



A : The Headquarter of UNESCO is at- Paris, France

99) The perimeters of two squares are 40cm and 30cm. Find the perimeter
of a third square whose area is equal to the difference of the areas of the two
squares.

26 cm
24 cm
32 cm
36 cm

v11)
2)
3)
4)

A : The perimeters of two squares are 40cm and 30cm.

The sides of two squares are 40/4 cm = 10 cm and 30/4 = 7.5 cm.

area of third square = 102 - (7.5)2

= 100 - 56.25

=43.75

side of third square = v43.75
= 6.614

. perimeter of square =4 x 6.614
= 26.46 cm

100) The instrument used to measure electric current is

1
v 2
3
4

electrometer
ammeter
galvanometer
spectrometer

N— N N N

T : An ammeter (from Ampere Meter) is a measuring instrument used to
measure the current in a circuit. Electric currents are measured in amperes
(A), hence the name. Instruments used to measure smaller currents, in the
milliampere or microampere range, are designated as milliammeters or
microammeters.
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